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Follow the instructions quen under each type of questions and answer accordingly.
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25x] =25
1. J=4 ®IFA 2/The value of /-4 is

(A) -2 SO =2 € 2i? (D) 2

2. |xs+ty|=
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Question Nos. 1 to 10 are Short Answer Type. Answer any S questions.

carries 2 marks.
1. 3R "C,=8."C, N n w1 AE F@RW/UCy =8 n-1C, then find the ve

2. TA B 4x+3 < 6x +7 ./Solve ax+3 < 6x +7.
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3.

5 5
B &l x ~X+2=0./ Solve x2-x+2=0.
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3.5.7.9. .. % 123 92 I F1/Find the 12th term of 3, 5, 7, 9, .
4 - .
A 1, =0t —6dn W 1, W w0 t, =n" -64n , then find

4 1116

TUH n IIhd FEH F DTHSA F1@ B/ Find the sum of the first n

2. d S % oy 11/ Di
(411 +-; +5) Bl x & HNY Hdhdd {1/ Diflerentiate (4x2+-‘1 +5)
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10. (xz +-§-) F1 ﬁ*‘l‘@l/Writc the expansion of (x2 +-:—?'-) ,
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Question Nos. 11 to 15 are Long Answer Type. Ar " an.-  qu

cames S marks.

11. x2. tanx Wl x & ANY HTH{cd ﬁl/Diffcﬂtm' .x with respect to
12/16

12. 7+ 24i %1 A [AHTAI/Find the sc

13. TR JT-x + Jx+9 =57/ Qe Ji-x PWx+9 =5.




YUECSUIorNn 1vos. 11 10 1o are L-Urly Aarwer 1ype. nv — QAP qu

carmies S marks.

11. x°. tanx H x & GNY HFHIcAd a-fiI/Dil'fcmltmt“'.'ﬁlx with respect to >
12. 7+ 24i % Tiqe FAFTA1/Find the sc

13, TA R JA-x + Jx+9 =5 /Rre JA-x 9fx+9=5.

14. 3 "Pe: "Py=2:1 Al MR- ™LA | /Find the value anif Pz TPy =

15. g w55 @' * af6. /M5 +5F = 26.
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